(1)

= i SR 2 0 FE #(1) (2) B
i f & i
5 (51 45E) w
® 3 ® — 9x/ 2
1 5
@ | — ) —
3 9
@ (1) —_— 8 1) 2
48
® 21 ® T
5
(R 1)
7 —?—— %) 2
5
)
5] 3
) - L@ —_—
4 2
@ 9 ® _1__]_’_
4

(4

2]

A, B — Ao 2B E
FThEhzx,y &5,
A DEBOENITERT L L
S5x — 2y =100—50
Lo T
Sx — 2y =50
B DO REOEITER TS &
S5y — 2x =(100—28)—50
Lo
—2x + Sy =22

DOX5+@x2 &V

21x=294, =14
DIZfRA LT
- 70—2y =50, y=10
ANT— B o T BRI 1408
B — Ao 7= EEIT 100
ThH D,




#(2)

= R & T2 0K @
7]
i 7 R E R K
&5 (LR 1
© 4/3 ® \/3
® e ——————
® 1 1
S:—Z—ABxOHJr?ABxCH
1 1 443 _4J3
=5ABXOC =5 X2X —g—=—¢
HEORMNE, SH_EHpXndLHICT B, |

E@y—p TEBAB LY FAICH D, Efy=p &

WOA OXHE%ZD, WOBOXEEZE L ¥ 5,
AODEFE=ZAETHIND

2 2.3
DE=p X ——=
AODE o @& T —é—xpx 2\23 p= */33 p?
V3 ., 1 43 -
MLV, p>0ThHENb, p=+/2 B

D ()
ZPBC=z 45 ¢&
LPAB=2x, ZABP=90°—=x

AABP IZBWT

/ZAPB=180°—(LPAB+ ZABP)

=180°— (2z+90°— z)
=90°— =z |
"k »7T, ZABP=ZAPB
AABPIZI % W=/ TdH 5D,
L7=2n->T, AB=AP

2%

B C

(7

22 —2

)

22.5

®

AP=AB=AD, /PAD=60°CTh 5
e, AADPIZIE=AETH 5.,
YT, ZPDA=60°
L35 T, ZPDC=30°
%7, WAD OHEE M &5 &,
AM=1, PM=.3 THE»5

L oax(2—v3)=2—+3

S:§><2><

oooooo






